An outline of the calculations used to obtain final results from the experimental data

Annotations shown in red Sl‘\ MPL E CALdu LATIBNS

Al for Q,m = 10 L/min Identify the basis for calculation

NH; Comuntrahsn of Ligud Shaam, ot
QNHg(ag-) + HLSOAr C“ﬁ) = ¥N H{t t 804-

B5mL of 0.1mM 504 was used 4 fitrate « 2T mL sample.
L (8,5 mL H, S04 )( 0.1 M H,_Sm)( 2 mol N,
L

dSmL Sample
LCNH‘a = 0‘0(0? mol NH3
L.

el H,Sog

Identify what is being
calculated

Yortal Prossups (P¥) @ Eguilibrium W | exir LiQuin
@ 20°C , 4l Heanq‘S Law Constant H=FE27Fxi0” ATm (looﬂ HZD>

State necessary 9 NH;
constants and FNH; = RHe Nt ’
assumptions _
PF =237 xi07 A [ loog 0 | [ 0.063 mel NHs) Eakie\ (R
g MW L. Solutitw mol Ntz A 1008«
Show all

units { P¥= 855 x10 ' ATm e sty of Ane soluhon 2 density of
AP, - Ppo -, | dRM VL@ bottomn o Column
P = (Ao2) ¢ 1aTm = 0.0196 ATM
| &b, - 0.019b 4T — 8.55 X157 < 0,013 A’/‘a)
NH; Partad pressure w amct gas

Volume BLeed gas tvated = 0.330L W .
O=f g ~ iR ’ l(p/(\)ng . QQZS = I’XEL

Molos  of Bloed gas 5y n= PV _ | ATms-g5L !
0. O%I\L'A’W quak\ = FF0x19

N, Ny = moles of NH; in Bleed gas samplo -(@ QLMW(SOq)(O O\L)(z ma) N
mol H
= 2x18 4 mal NH;

N'

L P = :u\»{; X \/%TN\ - 2x1074 I _ 2 (DO /0‘3
—— 18 F70m02 " ~PY MY ATM

=

W


Identify the basis for calculation

Annotations shown in red

Identify what is being calculated

Show all units

An outline of the calculations used to obtain final results from the experimental data

State necessary constants and assumptions
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AP, = B, —P*, AWy -force @ op of column
Pq, = 2. 6D XID—'Z‘) p* =0, since Fhegg was np NHg In waler -@eg/

(BB~ om0 mm |

Overan mass Aanser cotfAcient | Kog
Kog= W |
% 2=AP, .

: ) (0002
\WN = Yotad M“} ‘\T‘tn&‘éffed = Q&KH’U’[GHH % Q~“3 = O.?L/Mli\ (—Ulnas—."') (Q-lefmo

W =.0F x 0™ mol
az=0rdz = 314 (0.0954 (1. 79m) = O- 143 m?
APLM = AP, - AP, 0.0 102 = 0.0188 h
Lo *%p, = An (Z‘UDWZ.OIX‘?\ = S i AT

\463= ﬂ_g'fx:o‘*rm\/g
O.143m*. Q.lq)ﬁm: 0115

mol NH3
mZ,S ra"‘w‘

U= average gas velotiy
— A L 1 4 ' m3
u (-H +%nm)( &éﬂ)(’fr (0,0.54,“)7)( | /DODLB
u = 2.42 m/_g
CALCULHT/W ot ){3 and R
Vi = Vot Wh, = Yeu'® Y

Linear Vegl’lﬁlm was uped -fD ff e Plot 0/ l/k9 Vs, %{0'83
(st Figure 2) ;
The slope - V/, ' ’ ol — 2
VB = 2.3by the inteept Yoo = 009 saim

LN
For Qq;,. - 70"’/M[n i Hs

( ky= B (23,) (242 = 036 mel 1H, /.

Ry = Hatercest = 73770 *aim (1054 Hzo) 173 NH?)( L/ > o
10004 H,o0

|

N Hy

’ O=Oqﬁmz-f-ak

3I\‘;ﬂ3 M°TNH3
-4
[ﬁ,: [3Ix10 ™M/ }9
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CALLULATTON  of sz, using Shorweee -Gl iland Coccelahon

SH = 0.023 R 335044
Sc,= A ,?‘;&IO =
ér Dw-m T .30 (2.2x0%) = 0.595

TQE'\, BA’LI R E-I asS nS

0 . -S M2
@ O I PNH3-AL [73 10 /S <DE(Q+€\'M , 352'50" NcGrau-—HiHD

1920

Dot T2 4, 20°C, D " 3,
e ! TN AR '%—%}5’) z,g .98 x107% -

= 2.20 x D.s '“7"/5
Maie = 6.01FCp = | FXO RS,

€ =130k

Re = due _ (0 0a54m)(2.42 %) (1,30 s/m* )

- o
ol I.F %16"S Po.s 403
Sw-0.023(4430) %% (0.595)°** = 20.3 - L RT
\+3-Ai¢

_ SH br_u\_;.__ _ 203 (2.2xi0 Mz/S)(l.OIB x10° B/

e

(& 34ZE) (a3 1) (0.0254m)

= 0.073 '“°L Al
Mm-S gt Clearly box final answers
or significant calculations
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Clearly box final answers or significant calculations
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